il

g
=
s
i

1. ¥¥4
¥4 44 B S 0 R A SE S
JBA T HRBBESATHREII3 THSEL 15 (SBREMEEL

2. EBEAR
1) FEF4

2) BITHIRM

REEEFEGAT Gk

255 H 4 B 4f 64 6H19H
E Sfn T4 2H28H

3) &FEtHM

4) FEHBNA

E sz TR R



i
I
St
%lljll
I

W4 | ABRIENE R E A S E AT ESS
H H JEREHE - BSERE
THH - T - fER] A7 ¥ & & KA OB RR
TEREHE - BEERETE = 1 4, 637, 500
TEREHE - SRR 2y 1 4, 637, 500
B R O =X 1 621, 600 | BillaREEDREH
1 =X
ST X ) O B X 1 602, 400 | EESCHEE XM OmET
1 =X
JEDE R~ D R & AR O 2y 1 1,745,000 | JEDIERENE~DZERG &SRO
bl bl 1 =X
Q 7 — 7 KRFHEL— b OF W 1 655,600 | Q% —7 X[JFtEL— b OFHRT
1 =
BETRHS R S s B ERK X 1 540,300 | BEAREEBESE S EHER
1 A
LD [ER 2 1 280,600 | HWEEDIERL
1 A
B RS DVERR X 1 127,200 | ZABAHIRCE S OVERR
1 A
WA 2V 1 64,800 | Hafr
1 =
BiStii} = 1 285, 900
iE G - GHEER) = 1 285, 900
o = 1 253,500 | ¥TAE
1 =
DA = 1 32,400 | MEHME OHE
1 =
ERERE = 1 202, 358
[ERE5 S = 1 202, 358

-1- E sz TR R



ull
P

==
=]

W4 | ABRIENE R E A S E BOES
H H [ERES S
THH - T - fER] A7 # 4 % OB ORR
TR AR E = 73,358 | it (i L - )
1 =
Ty 2 129,000 | FEFRCRALTEREE
1 X
EEEM (FOMs MR <) =X 5, 125, 758
Z DA =Y 2,651, 250
— B PR =X 4,182,992
SRR X 11, 960, 000
-2 - E 2wy IR



